Algorithm for Sample Size Calculations for 1-Way Random Effects Model
· Distribution of Y
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· Among Groups Sum of Squares (SSA)
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· Distribution of 
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(Demonstration for t=3, r=6 on EXCEL  Sp

readsheet):
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· Within Groups Sum of Squares (SSW)
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· Distribution of 
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(Demonstration for t=3, r=6 on EXCEL  Sp

readsheet):
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· Independence of 
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· Distribution of F0 = MSW/MSE
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· Obtaining Power, using 
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 EMBED Equation.DSMT4  [image: image14.wmf]
  Continue cycling r until desired power is obtained:

	r
	s2e/(s2e+rs2a)
	F(.05)
	F(s*/s**)
	1-B

	2
	0.6667
	9.552
	6.368
	0.083241

	3
	0.5714
	5.143
	2.939
	0.128891

	4
	0.5000
	4.256
	2.128
	0.17505

	5
	0.4444
	3.885
	1.727
	0.219235

	6
	0.4000
	3.682
	1.473
	0.260587

	7
	0.3636
	3.555
	1.293
	0.298861

	8
	0.3333
	3.467
	1.156
	0.334098

	9
	0.3077
	3.403
	1.047
	0.366469

	10
	0.2857
	3.354
	0.958
	0.396199

	11
	0.2667
	3.316
	0.884
	0.423526

	12
	0.2500
	3.285
	0.821
	0.44868

	13
	0.2353
	3.259
	0.767
	0.471876

	14
	0.2222
	3.238
	0.720
	0.49331

	15
	0.2105
	3.220
	0.678
	0.513158
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